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NEON BULB, SPARK GAP MACRO

.PARAMETERS(VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N,RPL=2K,CPAR=1P,CARC=3P)
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.HELP ISUS "Sustaining current under which the arc is stopped"
.HELP RNEG "Negative resistance once struck"

.HELP LPL "Lead/electrode inductance"

HELP RPL "Lead/electrode resistance"

.HELP CPAR "Gap capacitance"
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NEON BULB, SPARK GAP MACRO

.PARAMETERS(VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N,RPL=2K,CPAR=1P,CARC=3P)
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.HELP VARC "Voltage across the spark-gap once struck"

.HELP ISUS "Sustaining current under which the arc is stopped"
.HELP RNEG "Negative resistance once struck"

.HELP LPL "Lead/electrode inductance"

HELP RPL "Lead/electrode resistance"

.HELP CPAR "Gap capacitance"

.HELP CARC "Arc capacitance"
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SPARKGAP MACRO 16/96
.PARAMETERS(GRES=1,VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N,RPL=2K,CPAR=1P,CARC=3P)
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spark_gap_+_two_resistors.CIR
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NEON BULB, SPARK GAP MACRO
.PARAMETERS(VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N,RPL=2K,CPAR=1P,CARC=3P)
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.HELP VTHRES "Voltage at which the spark-gap strikes"

.HELP VARC "Voltage across the spark-gap once struck"

.HELP ISUS "Sustaining current under which the arc is stopped"
— — .HELP RNEG "Negative resistance once struck"

.HELP LPL "Lead/electrode inductance"

HELP RPL "Lead/electrode resistance"

.HELP CPAR "Gap capacitance"

.HELP CARC "Arc capacitance"
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Cwi1.02) (%) 471 526m 0.724f -471.628m -85 695K
Cisa.o2) (4 830.303n 1.004 E-27 -530.308n -103.334m
it oz piisa.02) 391.595n T2T3E43 -331.595n -48.735m
Cwis1.L110v) 0.074f S3ATZE-3 -0.074f -9.264p
[EANENITY] -4 385E-20 1.004 E-27 4 .985E-20 5.204f
v LA pIe Ly -3.T11E-38 -3.185E-58 3T11E-36 4.618E-31
T[Secs] 54.300n S.100u 5.035u 1.000



24/96

NEON BULB, SPARK GAP MACRO
.PARAMETERS(VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N,RPL=2K,CPAR=1P,CARC=3P)

RS

E2
IF(ABS(V(PIN1,PIN2))>V(THRESH),10,IF(ABS(I(V1))>ISUS,10,10N))

Thresh Dvat

+(-9 851E-023]
E3 @ 100*V(Dif)
/ VTHRES+(VTHRES"V(ION)) -
L R6 C4 -
1Meg ;e Tu
E6
-100Meg*V(Dif)

V(Pin1,Pin2)

.HELP VTHRES "Voltage at which the spark-gap strikes"

.HELP VARC "Voltage across the spark-gap once struck"

.HELP ISUS "Sustaining current under which the arc is stopped"
— — .HELP RNEG "Negative resistance once struck"

.HELP LPL "Lead/electrode inductance"

HELP RPL "Lead/electrode resistance"

.HELP CPAR "Gap capacitance"

.HELP CARC "Arc capacitance"

FIG. 24
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—2.120E-38VA = +2.120E-38W €—==->  oow 2120838 2035E30
-2.882E-48 :
THIS CIRCUIT IS SYMMETRICAL £ Votsifmperes 1 0BE-54 A
-3.185E-58 SUB- 2:14DE-43 IE
‘U"I < > EI 0.000 TOTALS 2 A4DE-13
' + —_— Wottsfdmperes  So0E 2 2.559E-47 Watts
f”‘l"l s 8 P : 5.031E-E5
0,000
| I -3 185E-68 +2 Z0E-38
C:1 c Yoltsimperes 5 031E-E5
- par Tihiatts 1.463E-20 [EIVRALY)
2.559E-47 1483E-23 [_JIR1)[A)
Wtts R_Z + | R1 2 A40E-43 [ IWVRAFIRT) RAW 1445 [ Iv{x1.R4) [v)
1.463E-20 []vir2)(v) -1.443E-25 i1 .Ra) (2]
: e | C2 RDI 1483623 [I[R2][4) DATA  2.093E-40 [ W1 R4FINA.R4)
— 1 2.140E-42 [ vR2PIRZ) 2826E-20 [ ]v[x1.c1)[w)
| 1 DMEQ I + Carc | 0.000 w31 1] ()] -9550E-28 %1 .c1)(A)
1 — w | | 1.004E-27 ;I[}H.W][A] -2.282E-48 ;wm.cﬂ*l[}ﬁ.m]
v + I 0000 vt w1 pipet e 1ads [ wvix1.cz)(v)
] 1 1449 [ IvH1.E11(v) 1463623 []I1.0c2)(4)
Véﬁéﬁiﬁ%gﬁes e I | -1.449E-23 [itx.51)14) -2.120E-38 [CIW{1.C2PIX1.C2)
. w 2099E-38 [ Iv[x1.G1PIX1.G1) 0.724f [ v[H1.01][Y)
|r'|2 -_ 1 3AT2E-31 Iv%4 . RA1 (V] -1.004E-27 [_ijx1.01114)
. A" 1.688E-24 [ i1 R1104) 7273643 [ w(x1. 04 FIK1.01)
2 1206.38 5031665 [Iv[1 . RAPIXA.RY) 0724 []v(x1.02)(v)
————} Vot iAmperes -4 ODBE-54 2 AZBE-Z0 w1 .R2) [V 1.004E-27 []I[%1.02][4)
S A = | ‘otts/tmperes -2828E-27 LI1.R2] (4] 7.273E-43 [ Iv(1.02FIX1.02)
f———— e 8.559E-47 [_]W%4 . R2ZPINA.R2) SBATZE-21 LIV[HA.L1)[v)
| 1.004E-27 v s1.R3) v 1.004E-27 [ JI%4.L1] (A
L_I%T 1% LI 1A
POWER . 1 -1.004E-27 [ix1.r3)08) -3 ASSE-SS [ vHA LAFIHEA.L)
1 Rneg -1.002E-54 [ W1 RAFI[X1.R3) 21000 T[Secs)
7.273E-43 |
ﬁ VWiatts +
~
— i — i
VOLTAGE x=: ! =
2. 140E-43
@ 1 1 Watts
CURRENT =+ vy D1 + '

T.27TZE-43
Watts

= GENERATOR OF
2.083E-38 E : REACTANCE
tts [E] = ELECTRICAL

—-——==> LOAD

2140E-43
| Watts

V(SWITCH PIN2)*V(SWITCHCHK) “

FIG. 25
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Battery NeonBulb

Minus R3 Plus Minus Plus : m Minus R1 Plus

—— | d b VW

1k Ohm 1k Ohm

90V Threshold

FIG. 26
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300.00 100V_Battery + Neon_Bulb + One_Kilo_Ohm_Of Resistance.CIR

225.00
150.00
75.00
0.00
-75.00

0.00 2.00 4.00 6.00 8.00 10.00

V(BATTERY) (V) I(BATTERY) (A)
1.25u ,

1.00u
0.75u
0.50u
0.25u
0.00u

Y
1

0.00 2.00 4.00 6.00 8.00 ' 10.00
I(NEONBULB.G1) (A)

37.50m
30.00m;
22.50m
15.00m
7.50mE- &
0.00m

45.00m
30.00m
15.00m
0.00m
-15.00m¢-;
-30.00m

oo0 e 2.00 - e 4.00 ] — 6.00 T 8.00 o T 10.00
V(NEONBULB.R3) (V) I(NEONBULB.R3) (A)
T (Secs)

FIG. 27



W EATTER Y 1[%]
I[BATTERY | {A)

[ EATTER Y FI[EATTERY)

WR1I[Y)

IR (A

RAFICRA)

WIRZ][Y)

I(RZ) [A)

(RZFIRZ)

WIRE][V)

I(RE] [A)

(REFIRE)

VNEONEULE.G1) (%]
I[NEONEULE.G1) [4)
V{NEONEULE. G4 FINEONELULE.G1)
V{NEONEULE V) [¥)
I[NEONEULE 1] (&)
[(NEONEULE A FITNEONELLE 1)
NEONEULE.RA) (V)
IINEONEULE.R1)[&]
(NEONEULE.R1PIINEONEULE.R1)
V{NEONEULE.R2) (V)
I[NEONEULE R2] (4]
(NEONEULE.RZPIINEONELULE.R2)
V{NEONEULE.R3) (V)
I[NEONEULE R3] (&)
(NEONEULE. RAPIMEONEULE.RE)
V{NEONEULE. R ) ()
IINEONEULE R4 (&)
(NEONEULE. R FIINEONELULE.Rd)
NEONEULE.CA) (V)
IINEONEULE.C1) (&)
(NEONEULE.CAPIINEONEULE.C1)
V{NEONEULE.C2) (V)
I[NEONEULE.C2] (&)
(NEONEULE.C2PIINEONELULE.C2)
VNEONEULE.DM) ()
I[NEONEULE.O1] (&)
V{NEONEULE.OM FIINEONELULE.O1)
W{NEONEULE.DZ2) (V)
I[NEONEULE 02 (&)
W(NEONEULE.OZFIINEONELULE.O2)

CIWvNEONBULE.L1) (V)

[NEOHBULE.L1])[{A]
WVINEONBULE.L1FINEONEBULE.L)
T[Secs)

100%_Battery_+_Neon_Bulb_+_0ne_Kilo_Ohm_0Of_Resistance. CIR

Left
100.000
28.431m
2843
-28.431
28.431m
266 168m
-28.431
28.431m
266 168m
-28.431
28.431m
266 168m
5333m
53.331p
362 014
0.000
28.430m
0.000
194 2860
-85 B43p
0.018f
11,708
AT
12.707u
20.420m
294300
-866.100u
5933m
503 208
35208
11.708
-4.443n
51 BEEn
11.702
440410
515 2570
10,748
585 564
3515k
253.420m
255 564
270 854
194 2860
29.420m
& E29n
400008

Right
100.000
-23.448m
2945
28448
-23.448m
267.157m
-28.448
-23.448m
267.157m
-28.448
-23.448m
267.157m
5.936m
53361
362 272
0.000
28447 m
0.000
&.429n

2 7150
1.474E-20
11,656
-1.166U
12 £260
29.447m
-29.447m
-867.1190
£936m
593 603
3 524
11656
126 2830
1.460n
11,680

-2 8280
24078
0,722
2324 734
3.482K
957 465 m
324 622
310,814
.5.429n
29.447m
153874
10.000

FIG. 28

Delta
0.000
-17.305u
-1.731m
-17.308m
-17.305u
1.013m
-17.308m
-17.305u
1.013m
-17.308m
-17.305u
1.013m
3.0420
30.418f
0.381f
0.000

17 308U
0.000
1896.716n
98.358p
-0.018f
51.916m
5.192n

-121.284m

17,2060
173060
10480
3.042u
0204
0004
51916m
4 5380
£3.126n
-51.918m
-A5 866

-543 4350

28 9468 m
560233
-E.03EK

-5 955m

-5E0.942

-560.066

-196.716n

173060
-5.789n
9.960

28/96

Slope
0.000
-1.737u
-173.747u
-1.73Tm
-1.737u
1023000
-1.73Tm
-1.737u
1023000
-1.73Tm
-1.737u
1023000
305.403n
3.054f
0.036f
0.000
1.733u
0.000
19.751n
9.875p
-0.002F
5212m
521.240p
-12.178n
1.738u
-1.738u
-102.300n
205.403n
0.031f
3.E25E-13
S.212m
455 E46p
5.33dn
-5.213m
-4.718p
-55.164p
2.805m
58.303
-B05.042
-2.608m
-55.318
-55.232
-19.751n
1.738u
-551.260p
1.000
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NEON BULB, SPARK GAP MACRO
.PARAMETERS(VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N,RPL=2K,CPAR=1P,CARC=3P)

RS

.HELP VTHRES "Voltage at which the spark-gap strikes"

.HELP VARC "Voltage across the spark-gap once struck"

.HELP ISUS "Sustaining current under which the arc is stopped"
— — .HELP RNEG "Negative resistance once struck"

.HELP LPL "Lead/electrode inductance"

HELP RPL "Lead/electrode resistance"

.HELP CPAR "Gap capacitance"

.HELP CARC "Arc capacitance"

FIG. 29
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1k Ohm e ST

m -2.945
67167 Z@: Volts/imperes i g o NeonBulb o>
(37104 o

———=> Battery

Minus R3 Plus Minus Plus M ' = Minus R1 Plus
| 229448 ' @ 29.448 |

1k Ohm

1k Ohm
90V Threshold

FIG. 30



E———p 0.000
é Yaltzidmperes

firﬂ .

13 .58Eu - C:1 cpar
| Watts RZ +__ th
!mwleg 0 i
v [El ¢ T
in2
5 ':'@2’

é____
POWER
—>

VOLTAGE
CURRENT

%

352 372 %

Watts

M
]

-155.874p
“oltsiAmperes

-24.078
Vnrtsf.i\.mpgres — -8E7.113u
)Ih WoltzlAmperes
I R3
|
310,814 | RI'I Eg
Witz =}

= GENERATOR OF
REACTANCE
= ELECTRICAL
LOAD

V(SWITCH PIN2)*V(SWITCHCHK)

FIG. 31

1474E-20
Wyatt

|
|
1
+Vvilv D1 | 4Ty
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—2.945VA # +3.7928KW — THIS
CIRCUIT IS ASYMMETRICAL BY A
FACTOR OF — +1,287.83W TO -1VA

2845
G -BE7.119u
-34.078p SUB-
YoltsiAmperes -153:35? TOTALS

-2.845

287 187m [IvIR1FIR1)
867.187m [ IvRZFIRZ)

3.482K
310,814
867.127m
2E7.127m
B67.157m
125960
1.460n YattS
352 372f
3524
1.474E-20
2.000

+3.7928k

267.127m [_IWRIFIRI)
-2.845 [JWIBATTERY FI[BATTERY)
362.372f [_JV[NEONEULE.G1FINEONEULE.G1)
0,000 [Jv{MNEONBULE %1 FINEONEULE. Y1)
1.474E-20 [_JV[NEONEULE. R4 PIINEONEULE.RA]
13.586u [_Jv{NEONEULE RZFINEONEULE RZ)
-867.118u [ JV[NEONEULE REFINEONEULE.RZ)
25241 [ Jv[NEONEULE R4FINEONEULE.R4)
1.480n [_J¥{NEONEULE.CA FIINEONEULE.C1)
-24.078p [Jv[NEONEULE CZFINEONEULE.CZ)
482K [ JV{NEONEULE.D1FIINEONEULE.DM)
310.814 [_Jv[NEOMBULE.DZFINEONEULE.DZ)
-159.874p [EIV{NEOHEULE.L1FI{NEONBULE.L1]
11,680 [_Iv{NEONEBULE.CZ] [¥]
-2.828p [_JfHEONEULE.C2][A)
-10.722 [ J¥{NEONEBULE.DA] (%)
-324.731 [_WNEONEULE.D117A]
957.465m [_V{NEONEBULE.DZ] (%)
324 622 [_|INEONEULE. D214
-5.428n [ IV{NEONEULE.L1] (%]
29.447m [_JINEONEULE.L11[A]

RAW
DATA

-29.448 [ viR1] (v
-23.448m [ Jirr11ra)
-28.448 [ TwWiR2)(v)
-za.a48m [ Jrrz1ra)
-29.448 [ viR3) (V)

2ad4gm R34

100000 [(Jw[BATTERY1[V]

29442 m [_IIBATTERY (4]

5.936m [_Jv[NEONEULE.G1][¥)
53.361p [_JINEONEULE.G11[A]
0000 [ Jv[HEONEULE %1] (%]
29.447m [ IINEONBULE. 1114
5.429n [_JW[NEONEULE.R1][v)
2.718p CIrNEONBULE.R11TA
11 888 [Iv{NEONEULE.R2][¥]
-1.466u [_JINEONEULE.R211A]
29.447m [_JvINEONEULE RZ)[v)

-28.447m [ INEONEULE RE11A]

5.936m [_|vINEONEULE Rd][v]
593609 [_JINEONEBULE RdljA)
11.656 [_IW{NEONELLE.C1][v]
1252530 [_IINEONEULE.C1114]
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NeonBulb

. C1l T
Minus R3 Plus Minus Plus ' m Minus R1 Plus

| — | U AAA
1mOhm 1F ic=100 1mOhm
' 90V Threshold

FIG. 32



Precharged_ Capacitor + Neon_Bulb_+ One Milli Ohm_Of Resistance.CIR
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15.00M
12.00M
9.00M
6.00M
3.00M

0.00M

3.00M

(1 QIVE o ses a1 e e e e s 1 e e e

-3.00M
-£.00M
-9.00M

-12.00M

3.00M

B

-3.00M
-£.00M
-9.00M

-12.00M

18.00M
12.00M
6.00M
0.00M
-£.00M

-12.00M

0.00 2.00
V(NEONBULB.R3) (V)

I{(NEONBULB.R3) (A)

T (Secs)

FIG. 33
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Precharged_Capacitor + Neon_Bulb_+ One_ Milli_ Ohm_Of Resistance.CIR

10.00T — T e T e T T T e
E ED_DDDm,‘I_EQEKF:::::::::::::::::::::':::::::::::::::::::::::::::::::::::::::J'::::::::::::::::::::::::::::::::::::::3':::::::::::::::::::::::::::::::::::::::'c:::::::::::::::::::::]1U.UUU.EUE.2280|
=2.50TH !
0.00 2.00 4.00 6.00 8.00 10.00
Left Right Delta Slope
[BIRMS(V{NEONBULB.G1)*RMS{I{N 1.622K 606.228G 606.228G 60.744G
CIRMS(V(NEONBULB.V1))*RMS(I{N 0.000 0.000 0.000 0.000
[ IRMS(V(NEONBULE.R1)/*RMS(I{N 89.192f 65.110u 65.110u 6.524u
DRMS{V{NEONBULB.M]]*RMS[I{N 1.060m 491.042K 491.042K 49.203K
CJRMS(V(NEONBULB.R3)*RMS(I{N 16.223K 6.062T 6.062T 607.443G
CIRMS(V(NEONBULB.L1))*RMS(I(NI 1.701m 888.496K 888.496K 89.028K
DRMS{V{NEONBULB.D1 )P RMS(I{N 122.182 2.733M 2.733M 273.838K
CJRMS(V(NEONBULB.D2)*RMS(I{N 1.366K 26.767M 26.766M 2.682M
[ IRMS(V(NEONBULE.C1))*RMS(I{N 9.515n 5.536 5.536 554.709m
DRMB{V{NEONBULB.C2]]*RM5[|{N 35.643n 20.504 20.504 2.054
CJV(NEONBULB.G1) (V) -12.714 -1.168M -1.168M -116.930K
CII{(NEONEBULB.G1) (A) -127.145 -11.683M -11.683M -1.169M
CIV(NEONBULB.V1) (V) 0.000 0.000 0.000 0.000
CJI(NEONBULB.V1) (A) -127.145 -11.683M -11.683M -1.169M
[ IV(NEONBULE.R1) (V) 8.024u 1.712 1.712 171.376m
CII{(NEONBULB.R1) (&) 4.012n 856.156u 856.152u 85.688u
DV[NEONBULB.RZI v -102.747 -10.515M -10.515M -1.052M
LII{(NEONEBULB.R2) (&) -10.275u -1.051 -1.051 -105.237Tm
[ IV(NEONBULE.R3) (V) -127.145 -11.683M -11.683M -1.169M
DI[NEONEULB.RS:I (A) 127.145 11.683M 11.683M 1.169M
[ IV(NEONBULB.L1) (V) -8.024u -1.712 -1.712 =-171.376m
CII{(NEONBULB.L1) (&) -127.145 -11.683M -11.683M -1.169M
DV[NEONEULB.DH v 959.084m 1.255 295.584m 29.583m
CII{(NEONBULB.D1) (&) 127.159 11.683M 11.683M 1.169M
[ IV(NEONBULE.D2) (V) -10.724 -11.019 -295.584m -29.583m
DI[NEONBULB.DE} (A) -127.159 -11.683M -11.683M -1.169M
CIV(NEONBULB.C1) (V) 102.747 10.515M 10.515M 1.052M
CII(NEONBULB.C1) (&) 55.525p 11.854u 11.854u 1.186u
DV[NEONBULB.CZ} V) 115.462 11.683M 11.683M 1.169M
CII(NEONBULB.C2) (&) 185.090p 39.515u 39.515u 3.955u
T (Secs) 20.000m 10.000 9.980 1.000

FIG. 34



Precharged_Capacitor_+_Neon_Bulb_+_One_Milli_Ohm_Of_Resistance.CIR
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0.80M
- A 5 L EEEH i
OIOOMJD.DDD,-'IE.SQ'I
QUOM| N
DBOM| T b b PR v
; ; ; ; 10.000,-1.168M
-1:20M 0.00 2.00 4.00 6.00 8.00 10.00
Left Right Delta Slope
[ IRMS(V(NEONBULB.R4))*RMS(l 16.223n 6.062 6.062 607.443m
[BIV(NEONBULB.R4) (V) -12.591 -1.168M -1.168M -116.831K
[ II{NEONBULB.R4) (&) -1.259n -116.832u -116.831u -11.683u
20.000m 10.000 9.980 1.000

T (Secs)

FIG. 35



7.50T,
6.00T!

450T!

1.50T ;

0.00T

3.00T/
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Precharged_Capacitor_+_Neon_Bulb_+_One_Milli_Ohm_Of_Resistance.CIR
i
_______________________________________ l______________________________________J_______________________________________L______________________________________J_____________________________________‘§_
B
¥
¢
.l'
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------- R
i
-f‘
iy -"’
______________________________________________________________________________________________________________________________________________________________________________________ R
20.000rm,13.064K ; : : I -
0.00 2.00 4.00 6.00 8.00 10.00
Left Right Delta Slope
[BIRMS(V(C1))*RMS(I{C1)) 13.064K 5.438T 5.438T 544 875G
CIRMS(V(R1))*RMS(I(R1)) 16.223 6.062G 6.062G 607.443M
[ IRMS(V(R2))*RMS(I(R2)) 16.223 6.062G 6.062G 607 .443M
CIRMS(V(R3))*RMS(I(R3)) 16.223 6.062G 6.062G 607.443M
LIv(c1) (V) 102.362 10.480M 10.480M 1.049M
ey (A) 127.140 11.683M 11.683M 1.169M
LIV(R1) (V) 127.140m 11.683K 11.683K 1.169K
CIRA) (A) 127.140 11.683M 11.683M 1.169M
LIV(R2) (V) 127.140m 11.683K 11.683K 1.169K
LII{R2) (A) 127.140 11.683M 11.683M 1.169M
LIV(R3) (V) 127.140m 11.683K 11.683K 1.169K
LII(R3) (A) 127.140 11.683M 11.683M 1.169M
T (Secs) 20.000m 10.000 9.980 1.000

FIG. 36
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NEON BULB, SPARK GAP MACRO
.PARAMETERS(VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N,RPL=2K,CPAR=1P,CARC=3P)

V1 R5
L witchehk , 10
T0.503MEG
c3 E2
10p IF(ABS(V(PIN1,PIN2))>V(THRESH),10,IF(ABS(I(V1))>ISUS,10,10N))
R1
Rpl -
Dt
+(TT 550
Rneg 100*V(Dif)
V(Pin1,Pin2)

.HELP VTHRES "Voltage at which the spark-gap strikes"

.HELP VARC "Voltage across the spark-gap once struck"

.HELP ISUS "Sustaining current under which the arc is stopped"
— — .HELP RNEG "Negative resistance once struck"

.HELP LPL "Lead/electrode inductance"

HELP RPL "Lead/electrode resistance"

.HELP CPAR "Gap capacitance"

.HELP CARC "Arc capacitance"

FIG. 37
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e 6.062G : S.a38T 1 -—-=2 6.062G
EE Rus %@RMS IT'anhm 1 NeonBulb EE Rus
(10.503MEG

E C1 o~
Minus R3 Plus Minus Plus A ' mng_ Minus R1 Plus
| 11.683K I R2 U 11.683K |

1mOhm

1mOhm 1F ic=100 6.062G (10.IB2MEG]
Watts = 90V Threshold

RMS

Gear Approx. Method & RELTOL =1

FIG. 38



= GENERATOR OF €=--> 8082t T 2e7emm
REACTANCE % 0 0 , F23am
= ELECTRICAL —6.062T 8288.496K
G Wz + 491.042K
LOAD @ RMIS Volts/Amperes RMS + 20.504
pint H Is.uez
. . . ! 5.536
| + - + A - SPARK GAP Feq o
_ . u
I @ ‘I“ +| 5538 c2 0w 888.496K L1 : R1 I Watts SUBTOTALS W
I R2 I Watts Carc Watts Lpl I Rpl 1 RMS .
" 10Meg < | _::CR:IMS + A RMS_ I + Watts RMS
+ | | A1 | &
491.042K Cpar = | Wae
Watts f'”z — I RMS 0 + 54387
RMS L | - A R3 0 + 6.062G
1 6.062G
;405129u'1\f3m RMS . +§ G] : 5 é;;% Volts/Amperes RMS 13_0323
. AAAY §W|tch. . I RS CIRCUIT + 5456T
= SUBTOTALS 'Vatts RMS
E i : 2GVEGTM
—_——— : | RMS
D2 \:’, TOTAL
= D1 : ' 2. 733M — 6.062T VOLTS/AMPERES
G1 /3\ Watts + 606.258G WATTS
’ \l( RMS + 5.456T WATTS
-/ &
VSWITCH,PIN2Y"V(SWITCHCHK *+0.000258T WATTS
( PIN2)"V( ) +258 Mega Watts?
606.228C E [E] €---- CURRENT > THIS CIRCUIT IS
Watts RMS
POWER % see next
> VOLTAGE ASYMMETRICAL % wo slides...

39/96

BY A SMALL %...

FIG. 39



40/96

F‘recharged Capacitor_+ Nean Bulb_+_One_ Milli Ohm_0Of_ Resistance.ClR

200.00T
1EﬂﬂﬂT ------------------------------
s LOAD SU BTOTAL s
: : [10.000,122 5487
10 T i t i iuA A I ;
........ * Na /L * a& * '
20007 \/(C1) I(C1)+V(R1) l(R1)+V(R2) I(R2)+V(R3) I(R3) /
01 - A G i, A
0.00T5 56 2.00 400 6.00 “go0 10.00
Left Right Delta Slope
BIVIC1} {C1+V(R1) I{R1 122.848T 122.848T 0.000 INF
T (Secs) 10.000 10.000 0.000 1.000
0 ﬂﬂT"""""""""""""""';' """"""""""""""1' """""""""""""'"I' e s s -raz;';_';':_'; """"""""
~40.00T - ‘V{NEUNE:;U]'_E_'G1}*I{NEUNBU']'_E.'GT}-I-”V{NEUNBUI‘LE.‘V 1]*I{NEDNBUL'BiV1 woo '\:"i.; """
V(NEONBULB.R1)*|(NEONBULE.R1)+V(NEONBULB.R2)*|(NEONBULB.R2)+
B0.00Tp----ocoeoom ~V(NEONBULB.R3)*(NEONBULB.R3)+V(NEONBULB.L 1)*i(NEONBULB.L1)}+
120,007 V(NEONBULB.D1)*|(NEONBULB.D 1)+V(NEONBULB.D2)*|(NEONBULB.D2)+ i
St R ~V(NEONBULB.C1)*(NEONBULB.C1)+V(NEONBULB.C2)*(NEONBULB.C2) ..~~~
- Eﬂ'ﬂﬂTﬂ.ﬂﬂ 2.1IJID 4.1IJID E.'IIJ'D B.'II]"D 10.00
Left Right Delta Slope
[ V(NEONBULB.G1)*I{N -122.848T -122.848T 0.000 INF
T (Secs) 10.000 10.000 0.000 1.000

FIG. 40
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Precharged_Capacitor_+ Nean Bulb_+_One_ Milli Ohm_Of_Resistance.CIR

200.00K .
-1 2234BUUUUUUUUUVA F +122, 343 000,118,436W

AN ASYMMETRICAL DISCR EFANCY OF
+1. 00000000095403559940033564?304 TO -1

150.00KF--------
V{NEONBULB G1 }*HNEONBULB G1 }+V{NEONBU|_B V1 }*HNEONBULB Vi
[10.000,118.436K

NEONBULB RZ}*I{NEONBULB RQ}
NEONBULB.L1)*I(NEONBULB.L1)+

V{NEONBULB.R1 *I{NEONBULB R1)+V( ;
NEONBULB. D2)*I(NEONBULB.D2)+ :I

)
100.00K - \/(NEONBULB.R3)*[(NEONBULB.R3+V/(

)*I(NEONBULB.D1)+V/(

)

V(NEONBULB.D1
V{NEONBULLB C1 {NEONBULB C1)+V(

S0.00K ==+~ DIFFERENCE BETWEEN LOAD AND SPARK GAPS
IS +118. 436K WATTS OF REAL POWER AFTER

___a.______________.|.__________.._.._.._.._...l_.._.._____________u.____----n.., .,l ______
'

'D.'D'D'K‘lm--------
TEN SECONDS OF RUN-TIME

i e M e

NEONEULB CZ}*I{NEONBULB C2)

'.I.'
'.I.'

)'I.

P

i
v
HEH
!
i
i

I
I
i
1
I
I
l
‘l

-50.00K 0.00 2.00 4.131] E.EHJ 8.00 10.00
Left Right Delta Slope
BIVICT)'{C1H+V(R1) I(R1 -14.796n 118.436K 118.436K 11.844K
T (Secs) 0.000 10.000 10.000 1.000

FIG. 41



Minus R3 Plus

42/96

10mOh
ms NeonBulb

| —W\

10mOhms

Minus ill Plus _§ : @ Minus/\f‘\}\wPlus

1F ic=100 10mOhms
' 90V Threshold

FIG. 42
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25.00M Precharged_Capacitor + Neon_Bulb_+ Ten_Milli Ohms_Of Resistance.CIR

20.00M

15.00M

10.00M
5.00M
0.00M

5.00M
D.O0IV] o+ rsessesses e84 05 e e e e e e
-5.00M
-10.00M
-15.00M
-20.00M

5.00M :
DLDOIVE oot
-5.00M
-10.00M
-15.00M
-20.00M

30.00M
20.00M
10.00M
0.00M
-10.00M
-20.00M

0.00 2.00 4.00 6.00 8.00 10.00
V(NEONBULB.R3) (V) I(NEONBULB.R3) (&)

T (Secs)

FIG. 43



Minus R3 Plus

Minus Plus

10mOhms
(15.517MEG

| 174.344K

10mOhms

i
1F ic=100

44/96

NeonBulb

Minus R1 Plus

5

wn
(15.%42MEG]

FIG. 44

CA74.344KN— |

10m Ohms

90V Threshold



Minus R3 Plus

45/96

100m Oh
ms NeonBulb

| —W\

100mOhms

Minus ill Plus § : @ Minus/\f‘\}\w Plus

1F ic=100 100mOhms
: 90V Threshold

FIG. 45



46/96

10.00G
8.00G
6.00G
4.00G
2.00G
0.00G

Precharged_Capacitor_+ Neon_Bulb_+ 100 Milli_Ohms_Of Resistance.CIR

2.00G
0.00G orveseersssssnssssissssssssessssssssassas s s sessons
-2.00G
4.00G
£.00G
-£.00G

0.00 2.00 4.00 6.00 8.00 10.00
I(NEONBULB.G1) (A)
2.00G

L
-2.00G
-4.00G6
6.00G
-8.00G

0.00 2.00 4.00 6.00 8.00 10.00

12.00G
8.00G
4.00G
0.00G
-4.00G
-8.00G

0.00 2.00 4.00 6.00 8.00 10.00
V(NEONBULE.R3) (V) I(NEONBULB.R3) (A)
T (Secs)

FIG. 46
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100m Oh
ms NeonBulb

. C1l 4
Minus R3 Plus Minus Plus ' ' Minus R1 Plus

| ——(743:878MEG}—| ((743.878MEG—— |

100mOhms 1F ic=100 100mOhms
90V Threshold

FIG. 47
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NeonBulb

. C1l T
Minus R3 Plus Minus Plus ' m Minus R1 Plus

| — | U AAA
1 Ohm 1F ic=100 10hm
' 90V Threshold

FIG. 48
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200.00
150.00
100.00
50.00"--
0.00F--
-50.00:

Precharged_ Capacitor + Neon_Bulb_+ One Ohm_Of Resistance.CIR

60.00
48.00
36.00]
24.00
12.00

0.00

0.00 2.00 4.00 . 8.00 10.00

60.00
48.00
36.00[ "
24.00
12.00

0.00

75.00
50.00
25.00¢--
0.00
-25.00
-50.00

0.00 2.00 4.00 6.00 8.00 10.00
V(NEONBULB.R3) (V) I(NEONBULB.R3) (&)

T (Secs)

FIG. 49
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NeonBulb

. C1l L
Minus R3 Plus Minus Plus ' m Minus R1 Plus

| —\(12390) | U (1.239u )\ ——— |

1 Ohm 1F ic=100 10hm
90V Threshold

FIG. 50



1 femto 1femto
Farad Farad

C1

51/96

10.1m Hz

1pVv

+

Fin‘

()

999999999

-

N

L1

- +
10k Henrys
L2

10k Henrys

FIG. 51

T 10 Henrys

L3 300 Farads ]

c2

- -

-

999999999




1 femto 1femto
Farad Farad

52/96

Gear Approx.
Method and
RELTOL =1

999999999

o-(F20574Y 5728511

10k Henrys

10k Henrys

FIG. 52

10 Henrys c2 -
- = () X4
300 Farads -

SZZZII 999999999

-



ammarnn_macro_vi1e LOAD output=.CIR

53/96

214.00

120 00K - . .
E“;.I.;";.h;:_ﬂ.1EM,1III.IIIIIIIIIr1|::::::::,c:::::::::::::::::::::::,c:::::::::::::::::::::::;:::::::::::::::::::::::;:::::::|2’14.IIIIIIIII.lIIILIIIIIIIIInI
S e '__-______--_---_--____--:______------------------:___-__-_-____:T:__TJ-+‘1!
SO G g 42 .80 B85 E0 128.40 171.20
Left Right O=lt= Slopa
[Blv1x1.1010v) 10.000n 10.000n -9.043E-22 -4.252E-24
%w}czrlu][ﬂ 10.000n 10.000n -9.082E-22 -4.268E-24
VIX3.10][V) 10.000n 10.000n 1.554E-24 TIV4E-27
SPARK AP ADJACEIT 1o oTon LoD
VTV V] - SR - 748550 - F70.513n £95.558n 3.2688n
[_Iiv1)a) 28.863p 7E.850u 7E.8590u 361.784n
[ vivz)(v) T8 703N 843,009 FT3.3060 3.634n
[v2][&) -28.863p -76.223u -76.223u 358.181n
[ vt -577.368u -1 G244 -1 S24K -7.163
I (0 Y 5.377n 364 .551u 364 580U -1.713u
[_IviLz)rv) 577.368u 15241 1524 K 7.163
[ Lz 9.291n -593.212u 5932214 -2.788u
CJvic)(v) -577.368u 15241 1. 524K 7163
[_Iicya) -0.484f -98.642p -98.642p -4653 529
vz (v 4.432u 453 858 453 858 2184
[_lic2)18) 1.478u 150,730 150.730 708.300m
[ Iviczn(v) -288.760U -T62.192 -762.192 -3.982
[C3][4&) -2.423E-19 -47 130 -47 129 -0.221f
[ Ivica)(v) 288 508U TE2.216 TE2.216 3.582
[CdyfA) Z.413E-18 51.450f 51.489f 0.242f
%‘v’[LB] [¥) -4.432u -459 958 -459 958 -2 161
I[L3)[A) 1.478u 160,731 180,731 FOB.300m
%ww FIW1) M OT D R 0 002 LDAD 59.322p 53.322p 278 7B0f
VYR E 2 -0.002f -64.714p -64.714p -304 .099f
v picd) CA PAC |T- Z 792E-18 AN C E 150 37 1n 150,37 1n TOEE11p
FC2FICE] ) B.544p —— { B9.330K » WATTS B9.330K 325.768
WCIFIC3) §.995E-23 35.922p 35.922p 168 .801f
%w CAPICA) B.9B4E-23 39 246p 39.246p 184 423
VILTRIL) -5.414p 555 724m 555.724m 2611m
CIviLzpiLz) MOTDR 5.384p LDAD 804 35Fm o e -804 25Fm -4 248 m
E544p ————————— ' 59 330K -375 768
[ IviLzpis) -3.002 306z AMPERES -43.436m -232.308U
T[Secs]) 1.194 244.000 242 805 1.000

~69.33KVA = V(L3) x I(L3)
{ MOTOR COIL }

FIG. 53

= TARGET FOR AN ELECTRIC VEHICLE
=IN 214 SECONDS



50.00
.w_wﬁ 891.604m,6.315E-39

LCOC DO OO OO OO DO CCLC L L e

LR IR
WVHLRZ I RZ)

A LRIFINRE)
SHA RAFIH R
NHALDTREI .01
N HADZRIHA.02)
SEALLTEIH LA
NHALCTRIH.CH)
WKALCZRIET.C2)
SHA TR
EALGTRIE.G)
SHAAD] W)
AR
I[HAR1][A)
EALRZ]Y)
I[HARZ][A)
EALRZY)

I[HA R3] [A)
RIS
I[HA. R4 [A)
HA.DT)1[V)
I[H1.01](A)

N HALDZ) V)
I[H1.02][A)
SHALLT) W)
AL A
HALCTIV)
I[HA.C1] (A

N HALCZ)[V)
I[HA.C2]1A)

HA TV
A 1] (A
SHALGT)(V)
I[HA.GA)[A)
T[Secs]

4230

ammann_macro_w11e H1 outputs. CIR

35.60
Left
E5.315E-33
0.005f

-1.721E-36

E.153E-23
13833
13 .8228f

4 BSGE-36

4 220E-23

S17TE-20

0.000

5. 153E-21
10.000nR
-0.004f

-1TTTE-21

7.215u
T21.494f
0004
-0.009f
-784.733n
-0.072f

48 750m
283 .7a0F
48.744m
283 B90F
0.004f
0001
-7.318u
-0.00&f
-E5.5300
-T.azEf
0.000
0001
-7E84.733n
=754
281 .604m

125.40

Ri ght
9.036E-33
251.164u
158 T3
155 6030
180.3350
4.071u
1.694E-21
162.479p
135 994
0.000
15,5600
10.000R

4 251
0.002
£0.116
£.042u
-398.410n
295.440n
-39.447
-3.945n
452 534 m
298.412n
-10.217
-398.412n
-4 254
-398.410n
-50.118
-3.242p
10670
A2 T4Ef
0.000
-398.410n
-39.447
-394.4660
214.000

FIG. 54

171.20
Delta
3.03EE-33
251 .164u
=158 73 1f
155 602N
180.335n
4.0710
1.634E-21
162.479p
135.994F
0000
15,5600
2.309E-24
4. 255F
0.002F
50,116
5.012u
-398.410n
298.410n
-39.447
-2.945n0
403 383 m
298.412n
-10.266
-398.412n
-4 Z255F
-3958.410n
-50.116
-3.242p
10670
-4 B18F
0000
-3958.410n
-39.447
-394 4EEn
213118

54/96

214.000,9.036E-33] g

Slope

4 240E-35
1.178u
-0.745¢f
730.125p
845 172p
19.100R
TA47E-24
TEZ .326f
0.5zaf
0.00a
T2.013n
1.553E-26
0.0z20f
9.982E-21
235.157m
23 516n
-1.8680
1.869n

-185.092m

-1 5090
1.895m
1.869n
-48.170m
-1.869n
-0.020
-1.869n

-235.157m

18212
-50.065m
-0.023F
0.000
-1.8E3nN

-185.092m

-1.851n
1.000



Q0,00
.w_waugﬂnnm,z_zzTE—S#

LCOC DO OO OO OO DO CCLC L L e

R R IR R
WHZRZPIEZ A2

K2 RIFIHZ.RE)
K2 RAPIHZ R
N2 0TRIRZ.01)
N HZ.DZPIHZ.02)
N HZLIPIHZ.LA)
N HZCARIHZ.CH)
W K2.CZPIKZ.C2)
N HZTRIEZ V)
W KZ.GTRIEZ.G)
S HZA0] W)
K2RV
I[H2.R1](A)

W K2.RZ][Y)
I[H2.R2]1[A)
K22V

I[H2 R3] [A)
K2RV
I[H2 R4 [A)

N HZ.01)1[V)
I[H2.01](4)

N HZ.0Z)[V)
I[H2.02][A)
SHZL1) W)
I[H2.L1]10A)

N HZ.C1)[V)
I[H2.C1](A)

N HZ.CZ)[V)
I[H2.C2]1[A)

N HZ V)
I[H2 1] (A
NHZ.G1)(V)
I[H2.G1)[A)
T[Secs]

4230

ammann_macro_w11e HE outputs. CIR

35.60
Left
222TE-34
0004

-3417E-25

0006
295.527p
292.096p

3.901E-25

0.004f
-0.495F
0.000
0.Gd4df
10.000R
-0 BET

-2.337E18

-3.3250
-332 456
554 516
.54 516
253,703
25 270F
273.851m
1.079n
273.E01m
1.068n
0667
524 515
3.3250
1.168p
-250.379u
1.878p
0.000

524 516f
253.703u
2557p
425 .000m

FIG. 55

128.40
Ri ght

9. 2558E-33

251.164u
58 BT
155 5500
92490
120.436n
1.714E-21
162.475p
-1.129p
0.000
15,5550
10.000R
-4 303
-0.002f
-50.118
-5.042u
983420
-398.242n
29.440
2.944n
-10.224
-904.700n
452 629 m
295.540n
4 203
2983420
50116
3.242p
10676
-105 785
0.000
2983420
29.440
394.398n
214.000

171.20
Delta
3.03EE-33
251 .164u
-158 BT 7
155 5500
5.2480
180.144n
1.714E-21
162.478p
-1.129p
0000
15.555u
0.005F
-3 EZEF
-0.002F
-50.116
-5.0120
982420
-398.2342n0
29.440
2.844n
-10.498
-305.730n
173.029m
297.872n
3.E36F
298.342n
50116
2.074p
10677
-2.034p
0000
298.342n
29.440
294.396n
213.5872

55/96

214.000,9.268E-33] on

Slope

4 231E-35
1.176u
-0.743F
728.325p
43307
243 .481p
8 .0Z6E-24
TEO.7EEf
-5.286f
0.00a
T2.833n

4 3T9E-20
-0.017
-BA12E-21
-234.857m
-23.46En
1.8645n0
-1.2E5n
184 BEEm
18 4E67p
-48.153m
-1.241n
833 2580
1.862n
0017
1.8645n
234 B57m
.71
49.991m
-9.746f
0.000
1.8645n
184 BEEm
1.847n
1.000



42.00
.,JL_WEgﬁa_nnnmIS_EETE-dﬁ

LCOC DO OO OO OO DO CCLC L L e

AR ISR
HE.RZPIED.RZ)

K3 RIFIHIRE)
KIS RAFIHI R
NHILOTRIRE.01)
N HILDZPIHE.02)
N HILLAFIHE.LA)
W HILCARIHE.CH)
W K2.CZPIKE.C2)
IR N
W KZLGIRIEZ.G1)
S HIAD] [
2RIV
I[H2R1][A)

W HR2LRZ]Y)
I[H2R2][A)

W R2LRZY)

I[H2 R3] [A)
K2RV
I[H2. R4 [A)

N HE.01)1[V)
I[H2.01](A)

N HE.0Z)[V)
I[H2.02][A)
SHILL) W)
2L A

N HELCT[V)
I[H2.C1](A)

N HE.CZ)[V)
I[H2.C2]1[A)

N HIATV)
I[H2 ] (A

N HILGT)(V)
I[H2.G1)[A)
T[Secs]

4230

ammann_macro_w11e W3 outputs. CIR

35.60
Left
S3.O8TE-46
20Z24E-21

-2.015E-39

S7T2E-31
14 .416f

14 .416f
3.803E-41
4. 710E-26
1.413E-25
0.000
S.773E-23
10.000nR

-2 47T0E-22
- 236E-25

172.8391n
17285
4 433E-20

-4.423E-20

75978

ST A92E-21

49553 m
290 917
49553 m
290 .915F
S.4T0E-22
4 A23E-20
-173.831n

-2.7T03E-19

1728180
-0.004f
0.000

4 4BIE-20
75 878p
-0.004f
25E.000m

FIG. 56

128.40
Ri ght
1.616E-30
90,2540
-35 355
27.599n
171.823n
9.047u

-1 113E-20

52.409p
-B.150p
0.000
3.760U
10.000R
-56 243
-0.028
20047
2.0050
-195.8450
195 2450
-19.391
-1.929n
439.245m
291.177n
-10.218
-582 5000
56243
-195.845n0
-30.047
-1.344p
10657
577 094
0.000
-195.845n0
-19.391
-1953.906n
214.000

171.20
Delta
1.61EE-30
90,2840
-358.3548f
27.599n
171.823n
9.017u

-1.113E-20

£2.4090
-B.150p
0,000
3.760u
0.002f

-5 543
-0.028f
30047
20050
-195.845n
195.245n
-19.391
-1.929n
389.692m
291.177n
10267
-552 500N
56243
-195.845n
-30.047
-1.344p
0657
577.095F
0.000
-195.845n
-19.391
-193.906n
213.144

56/96

214.000,1 616E-30] g

Slope
T.4530E-33
423 583N
-0.180f
176 .404p
806.134p
42 305n
-5 223E-23
274.035f
-22.854f
0.00a

17 640N
1.032E-20
-0.267f
-1.233E-18
140.972m
14.097n
-912.240p
912 .840p
-80.974m
-5.097p
1.828m
1.834n
-48.170m
-4.140n
0.267f
-918.840p
-140.972m
-9.1206
-45.998m
2. 70sf
0.000
-918.840p
-80.974m
-903.740p
1.000



57/96

ammann_macro_wile Hd outputs.CIR

T zE 000m 2 BB A [ == — e 140001 01 0E-31] g

Left Righit Delta Slope

EE 4 R1FI A BT 2 833E-41 1.00E-31 1.00E-31 id T28E-34
=‘-."‘[}{£1.R2}"|[}{4.R2] 0.004f 1.005m 1.005m 4 7040
=WH4.H3}*|[}{4.H3] -5.369E-28 -2317 .495f -2317 .495f -3.828f
="-."'[}{£1-.Rd}"|[}{4.ﬂ4] 0.045F 201 .291n 201 .291n 2.752n
%401 I[%4.01) 11.599p a.257u a.257u 43 344n
="-."'[}{£1.|:|2}"|[}{4.D2] 11.247p 428 417N 428 A0En 2 008n
=\"'[}{4.L1:F|[}{4.L'1] 5.515E-33 1.285E-20 1.285E-20 B.O1BE-23
[ Jwi4.C1PIH4.C1) 0.015F £49 9160 £49 9160 20430
=\\"'[}{4.|:2:F|[}{4.|:2] -4 .826f 120 486f 1256.292f 0.527F
="-."'[}{£1."-.""1 I A W] 0.000 0.000 0.000 0.000
=VI}{4.G1:F|[}{4.G1] 4 240 20,1389y 20,1389y 3T75.232n
="-\."'[}{£1.'1|:|] [ 10.000m 10.000m 0.074f 2482E-19
=VI}{4.H1][V] -2.380E-19 14.211f 14.211f -0.0EFf
L (4 .RAT[A) -1 AQ0E-22 -0.007F -0.007F S2A2TE-20
=VI}{4.H2][V] -BE11u -100.233 -100.233 -489.215m
=|[}{4.R2][.&.] -BE1 145 -10.0230 -10.0230 46 931m
=VI}{4.H3] ] 22317 304 156N 304 156N 4.233n
L (4 R3]~ 2R ATOF 904 156n 904 156n -1 233
=VI}{4.H£I-] ] B35 B89y 83520 83520 419, 155m
[ Jira R ) [ 4) £9 5Eof & .952n & .952n 41.915p
=\"'[}{£1.|:|'1][V] 192.294m -10.238 -10.437F -8 887 m
[ Jira.01) () 5% 492p -804 1570 -804 216n 4.234n
="\"‘[}{£1.|:|2] [ 197 .B05m 4T32.8320m 2TE.225m 1.293m
[Jirxa.0z)(4) 56 917p 304 157N 304 100N 4.233n
=\"‘[}{£1.L1]["\"’] 2.380E-19 14 211f 14 211f 0.087f
=|[}{4.L1][J‘:‘t] 23T 204 156N 204 156N 4 .233n
=\"'[}{£1.|:'1][V] E.E11u 100,233 100,233 459.2315m
[ Jirxa.c1) () 2 336p &.424p 4.148p 19.421f
=\"'[}{£1.|:2][V] -E23.077u 10.712 10.713 S0.160m
[Jixa.c2) () 7.002p 11 246f £.992p .32 730
Ivxa vt ) 0.000 0.000 0.000 0.000
=|[}{4."'."'1][.I':'l.] 23T 204 156N 204 156N 4 .233n
='\."'[}{£1-.G'1 1% 5395 5890 289520 289520 419 155m
[ Jifd . 517 (4] E.957p 595 204n 895 197N 4.192n
T[Secs] 428 .000m 214 000 213872 1.000

FIG. 57
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ammann_macro_v11e_all_load_outputs_without_text.CIR

16.1:}1:}i
ook V(L1)*I(L1)+V(L2)*I(L2)+V(L3)*I(L3)+
e N TV 1Y 1A AN NI A *IAANINTIAAY R[{AANL
. V(C4)*1(C4)+V(C3)*I(C3)+V(C2)*I(C2)+ s
: V{C1 )*I(C1 )+V(V2)*I(V2)+V(V1 (V1) |
B.E}ﬂ% -------------------------------------------------------------------------------------------------------------------------- i ------------------------- ' -----
THE TDTAL LOAD DUTPUT;, MINUS THE FQUR SPARK GAPS !
400, EQUALS —369.731 MILLI VOLTS / AMPERES MAKING THIS MILDLY | |
o ASYMMETRICAL AS A GENERATOR OF REACTIVE POWER. I
ﬂﬂﬂé__lldﬁd.?wm,ﬂlﬂljﬂﬂ _ _ _ _ _ _ ____|__
'4'm1!:}.ﬂﬂ 42.:31:} BE.:EE} 12E;.4ﬂ 1?1:.21:} 214.00
Left Right Delta Slope
[ IV(X1.10) (V) 10.000n 10.000n 0.008f 3.942E-20
[ IV(X2.10) (V) 10.000n 10.000n 0.009f 3.998E-20
BIV(X3.10) (V) 10.000n 10.000 10.000 46.831m
[ IV(X4.10) (V) 10.000n 10.000n 6.61TE-24 -3.099E-26
[ VL L)V (L2) 1(L2) -10.627f -369.731m -369.731m -1.731m
T (Secs) 464.712m 214.000 213535 1.000

FIG. 58
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ammann_macro_v11e_X1_ALL_outputs.CIR

59/96

6.00

150/}

[7.035 02851
0.00 :

450 y(x1. szr}*lm R4)+V(X1. D1)“I{X1 m}w‘{m D2)¥(X1. n2 ¥
 VXLLM(XLL)HV(X1.C1)H(X1.C1)+V(X1.C2)H(XA1. cz}+
3.00 - MXAVAPHX VARV (XL GHH(XEGA)

000 42.80 85.60

Left

BIV(X1.R1)1{X1.R1 0.295f
[ IV(X1.10) (V) 10.000n
[ V(X2.10) (V) 10.000n
[ IV(X3.10) (V) 10.000n
[ V(X4.10) (V) 10.000n
T (Secs) 1.035

128.40

Right

5.962
10.000n
10.000n
10.000n
10.000n
197.248

171.20
Delta
5962
0.276f
0.257f
1.613E-21
1.789f
196.213

214.00
Slope
30.383m
0.001f
0.001f
8.221E-24
0.009f
1.000

A spark gap of mild absorption / consumption
spiking at 198 seconds and absorbing +6 watts

of real power.

FIG. 59
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ammann_macro_v11e_X2_all_outputs.CIR

750 | N ' | |

Eﬂﬂ _______________________ ________________________ ________ 197.248,5.967
v(xa. R1}*I{}(2 R1)+V(X2. RE}*I{XZ Rz}w{xz R3)*I(X2. R3)+ ;

450 V(X2.RAYHX2.RA)HV(X2.D1)H(X2.D1)+V(X2. D2)(X2.D2)+ |  —
| V(X2.L1PIX2.L1V(X2.C1)1(X2.C1)+V(X2.C2(X2.C2)+ |

300l V(X2 u1}ﬂ(x2.u1}+u{xz G‘J}*l{xz G1) B
; | | |

e

E}E}ﬂi 1.035,0 2957 |

0.00 42.80 85.60 128.40 171.20 214.00
Left Right Delta Slope
BIV(X2.R1)1(X2.R1 0.295f 5.967 5.967 30.409m
[ IV(X1.10) (V) 10.000n 10.000n 0.276f 0.001f
[ V(X2.10) (V) 10.000n 10.000n 0.257f 0.001f
[ IV(X3.10) (V) 10.000n 10.000n 1.613E-21 8.221E-24
[ V(X4.10) (V) 10.000n 10.000n 1.789f 0.009f
T (Secs) 1.035 197.248 196.213 1.000

A spark gap of mild absorption / consumption
spiking at 197 seconds and absorbing +6 watts
of real power.

FIG. 60
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300.00m;, ammann_macro_v11 e_KB_aII_:autputs.ClR

ssooom: V(X3.R1)*I(X3.R1)+V(X3.R2)*I(X3.R2)+ |
 V(X3.R3)*I(X3.R3)+V(X3.R4)*I(X3.R4)+
180.00m - \/(X3.D1)* I X3.D1)+V(X3.D2) X3.D2)+ -
 V(X3.L1)*I(X3.L1)+V(X3.C1)*I(X3.C1)+
12000mE\(X3.C2P (X3.C2HV(X3 VA3V )
sooom. . VIX3.G)*IX3.G61) | -

(703503121

ﬂ'mmﬂ.ﬂﬂ 4280 85.60 128.40 171.20 214.00

Left Right Delta Slope

BIV(X3.R1)I(X3.R 0.312f 227.993m 227.993m 1.228m

[ IV(X1.10) (V) 10.000n 10.000n 0.138f 0.001f

[ V(X2.10) (V) 10.000n 10.000n 0.129f 0.001f

[ IV(X3.10) (V) 10.000n 10.000n 0.010f 5.181E-20

[ V(X4.10) (V) 10.000n 10.000n 0.898f 0.005f

T (Secs) 1.035 186.665 185.629 1.000

A spark gap of mild absorption / consumption
spiking at nearly 187 seconds and absorbing
+228 milli watts of real power.

FIG. 61
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40.00m, ammann_mal'icm_ﬂ1&_){4_all_lﬂutputs.CIR |
s2oom - V(X4.R1UXARDHV(XARUXAR2 g
 V(X4.R3)*I(X4.R3)+V(X4.RAyI(X4.RAM
2400m - \(X4.D1)l(X4.D1)+V(X4.D2){(X4.D2)+ |+
woom V(X4.L1I(X4.L1)+V(X4.CI" |(X4.C1)+ 1
T V(X4.C2)I(X4.C2)HV (XA IXANA)+ |
som - V(XAGIX4GT) ] |
0 035,0.1 967 5 : : : |
0.00m 0.00 42.80 85.60 1 23 40 1 T'I 20 214.00
Left Right Delta Slope
BIV(X4.R1}1{(X4.R’ 0.196f 30.120m 30.120m 147.538u
[ IV(X1.10) (V) 10.000n 10.000n 0.447f 0.002f
[IV(X2.10) (V) 10.000n 10.000n 0.447f 0.002f
[ IV(X3.10) (V) 10.000n 10.000n 2.880E-21 1411E-23
[IV(X4.10) (V) 10.000n 10.000n 3.006f 0.015f
T (Secs) 1.035 205.185 204.150 1.000

A spark gap of mild absorption / consumption
of real power spiking at 205 seconds and
absorbing +30 milli watts.

FIG. 62
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CIRCUIT (LOAD) X1 0UTPUTS X2 OUTPUTS ¥3 OUTPUTS ¥4 OUTPUTS
10,0000 [Elv 4,101 v 10.000n [Jv{341.10) (¥) 10.000n [z 10 (¥ 10.000n [ Jv[x3.10][v) 10.000n [ Jv{x4.10) (¥
10.000n [ Jvwixz. 10][¥] 4251 [ w[x1.R1][¥] 4303 [ vixz.R11(Y) GE.BAE | PHIR1IV) S 21 L Jwxa R11[v)
10,0000 [ Jwixz.10] [v] 0.002F [ Jipxa. R4 14) 0002 [ iz r1)(a) -00zef [ iixz.R110A) 0,007 [ JIjx4.R1)[A)
10.000 [ Jvwixd. 10] () &0.116 ;\.r[}ﬁ_nz][v] SO0TE [ Wixz R2) (V) 30047 [ ]viH3.R2](V) -100.2332 ;‘-.-f[}{d.RZ][V]
TROS130 [ Jvvd) v 50120 [ irx1.R2) (4] S012u [ iixz R2)A) 30050 [ iixz.R2)04) -10023u [ iix4 . R2](A)
TE.330u [ Jipv1)4) -398.410n [ Jvwix1.R3) (V] 2983420 [ vz RV -185.845n [ viH3.RI) (V) 304.156n [_Ivixd R31[v)
543.008n [Jvpvz) (v) 3984100 []IiK1.R3) [A) -338.342n [ Mz R3)(A) 195.845n [_|i[x3.R3) (4] -304.156n [_I[x4.R3][4)
-78.223u [ irvz) (A 39447 [ vixa R4 (V) 39.440 [ [wx2.R4][¥) -19.391 [ IW(X3.Rd ] (W] 33520 | PK4.R4)W)
-1.524K [JviL1]1v) 23450 [ Jiix1.Ra](A) 28440 [ iixz.ra)(a) -1.9239n [_Jiixs. ra)a) £.952n []irxd Ra)(a)
-364.5510 [ I[L1][A) 452 B34m [ Jvwix1.01)(v) 10224 [ iz 04w 439.245m [ w[x3.01](v) -0.z38 [ vixd.00)(v)
5913'22125 =|\Er[|_l5_2]][,[;;] 39?&?5? = A fﬁﬂzdé?zuanr: =~I\Er[}{}}?2'n|;2]][ﬁ1] 391[::1;:; =~IETK}{33'D|:?2]][?\1] ;19?034;350?.-. St o o
-593. [] 10217 [ Jwix1.02][¥) : ] . -0z48 [ Jwixa, 230m [_v[x4.02][v)
Efg-gi;“ [ Iwica1iy -39844215211; C i1 02) (4] 3984534003? [ ipxz.02)04) -Ssﬁzéﬁsndnau; ix=.0z)0a) 204.157n [Jiix4 02)78)
-98 842p [ ic4) (A -4, KAL)V : [ Tvixz L1y . [z 14,241 Hd LAY
459953 ;xfr[czl][[xl] -292.410n f?{[}{mu]][;[a]] 398.342n ;?{Ixz.L1]][L]] -195 8450 ;?Er[xg_u]][;[&]] a04.156n f?[qxa.u]][;[&]]
150,730 [icz)[A) 501168 [ Twix1.C1][v) SO1E [ Jwixz.c1iv) 20047 [ Jwixa.ca(v) 100.233 [Jvixa.c1ip
-?45?2-113902f [ Ivicz1v -%2;% [ iix1.c1704) ?5;?2 [ D=z caypa) -1%;2 [ lijxz.caypa) E424p [ irxa.c1)0a)
-47. [_liicz)a) -10. [ Iwixa.c2)v) . L[V H2.C21[v) =10, L_VIH3.C2][V) 10712 [ WiH4.C2](v)
?5812&2;; L_Iwcd) ) -126?04085 ;|[}{1.C2][A] -1|:|5Ij?08085 L_I[¥2.C210A) 5??600904; L JI[¥3.C2][A) 11.246f L lI[¥a.C2][A)
. [_liic4)(a) . [ I vt v . LV M2 1Y) . L_VIE3 1]V 00001 Pxa 1]V
.jgg_gg? CJwiL3)v) .392.9413? i1 (4) 392.93333 iz w11 14) -19%8;3:- Clissv1)a) 904.156n [_Ii%4 %11 [A)
. [ lulz)ia) -39, [ wxd.G170v) ‘ L[R2 .G110Y) -149. L_W[X3.G1](¥] 29.520 [ Ivixd.G1)(v)
gigfip [ v pine -394 48BN [ I[%4.G1])[A) 3943980 [ Jixz.G1)08) 1938060 [ Jxz.G61)04) 595.204n x4 .51)04)
150.371n =f{§;:ﬁ} 9036632 [ElvixiRtpgxtry | | 9258633 [Blvixe R1pIx2.R1| 1616E-30 [Blv[x2 R1FIN.R1) 1.010E-31 [EIviHd R1PIXA F1)
£9.330K [ |vic2pIce) 251 184U [ iK1 R2ZFI%1.R2) 2511840 [ X2 RZFI%2.R2) a0.zadu [ W3 RZPIHE.RZ) 1.008m [ v[H4. R2PI¥4.R2)
35.922p [ Jv[CapIC3) 15873 [ w4 RIPIX1.RI) 188 67 [ IviX2 RIFIX2Z.RI) -38.355F [_Iv{X3 RIPIN2.R3) -217.499F [_Jv{xd REFIN4.RI)
38.248p [ Jv[C4FIC4] 1556030 [ Jv{x1.R4FIX1.R4) 185.550n | Ivix2.RaFI[H2.RA) 37.599n [_Iv{%3 RAPIN2.RA) 8013910 [_Iv{x4. R4 FI %4 Fd)
555 724m [Jv{L1 FI[LA] 120.335n [_Jw[¥1.01 FI%1.04) 92430 [ |v{xz.01pI0%2.01) 171.823n [_Jvxa .01 pIN3.01) 92570 [_vix4.D1pIH4.01)
804 267m [ VL2 PILZ) 40710 [ Jw[x1.02FI[%1.02) 1804380 | Iv{x2.021%2.02) 30170 [_Jv[%=.D2FI%2.02) 423.417n [_v[¥4 D2PI%4.02)
-69.330K [ JWLIPILE) 1E84E-21 [ Tvixa.LApI.L1) 1TE2T [ sz L1PIH2 L) 113620 [ Iv(x3.L1PI[KS.L1) 1.286E-20 [_Jwixd LAFI[x4.L1]
L 162.479p [_Iv[¥4.CAFI%1.C1) 1824780 [ vz C1pIH2.C1) 52.409p [_|W[¥a.c1 pIixe.c1) B42.816p [ Jv[x4.C1PIH4.C1)
125 994f [ |yix4 C2PIK1.Co -1.123p [ X2 CEPIHE.CZ) -6.150p [ vixa.c2pixa.cz 120.468F [_JwHd.C2FI%4.02)
L_I%( FI 1 L% FI 1 L
0.000 v A pIrEd v 0.000 [ P2 w1 FIH2N1) 0.000 vz wapIiEa.vi) 0.000 [_]v[xd v pIxa v )
—348.573m WA 155600 [ Jvixd GArIE1L G 155550 [ Jvisz G1FIHE G 27600 [ WK 61 FIHS . G1) 501350 [ |v¥4.G1FI¥4.G1]
+ 27T A3 g WATTS + 27E. 304 WATTS F 03 2TpWATTS +1.0956m WATTS

F27e s0apwars -346.8267m
+ 271 AFPWATTS

+ 103 27 WATTS VOItSIAm peres

=368 73TmW A

IN 214 SECONDS

A SLIGHT ASYMMETRIC GAIN OVER LOSS. WHERE DID THIS
EXCESS COME FROM? IT HAS LASTED TOO LONG AFTER THE
INITIAL INPUT OF CAPACITOR, C1, WAS PRECHARGED WITH 1V.

FIG. 63
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ammann_macro 1..f11e _grand_total ﬂutputs without_text.CIR

VIL 1 HL1+V(L2)* I{L2}+"J{L 3)'HL3)+VIC A HC AT 3N 3]»\!{1: 21 HC2HVIC 1) HE 1 VIV2) V2V VT VX, H1[|| I{X4. R1}+v{x4 R2)'I{X4.R2)+
V{X4.R3) HX4.R3PHVIX4RH HXERAHVIXD 1) XD 1)+V(X4.D2) HXL.DZHVIXAL 1) IOCLTVIXA.C 1) IX.C VA 2P I C 2P VXAV 1) XAV 1)+
VIXA.G1) HXAGAVIXE R IGRTIVIX3.R2) X 3.R21 VX 3.R3) X3 RIFVIXI.RA) X3 RIHVXI.D 1) 1X3.D 1) VIX3D2) 10X 3.D2) V(X 3.L 1) 1X3.L 1)+
VIX3.C1)HX3.C1)+V(X3.C2) X3.C2HVIXIV T KXV 1)+V(X3.61) HX3.G 1HVIX2.R 1) IX2.R1)+V(X2.R2) {X2.R2)+V(X2.R3) IX2.R31+V(X2.R4) I(X2.R4)+
V(X2.D1) HX2.D1)+V(X2.02) X 2.D21+ViIX2.L 1) HX2.L1)+#VIX2.C 1) IX2.C 1)+V(X2.C2) X 2.C 2+ VX2V X2V VIX2.5 1) 2.6 1)+ VX LR 1) LR 1)+
12.00M}----- VIXTR2F X 1LR2FFX TR HXTRIPFVIX 1R 1{)-:11%4}#\9'{11 DY HX DT V(X 1.2 I{xmz}w{m L1 XL THVOCEE T XTI VX T2 X 1025+
VXAV XV VX LG X 1.6 1) dmu REET

THE GRAND TOTAL OUTPUT AT THE END OF 210 SEcoan IS +1.621
MILLI WATTS WITH A +10.353 MEGA WATT SPIKE AT 160 SECONDS

8.00M - MAKING THIS SPORADICALLY ASYMMETRICAL AS A CONSUMER OF
REAL POWER. WHERE'S THE ENERGY COMING FROM TO SUPPLY

THIS EXCESS? NOWHERE...! IT'S FOOLING US INTO BELIEVING THAT

IT IS COMING FROM SOMEWHERE WHEN, IN REALITY, THERE'S NO

4.00M - RELATION WHATSOEVER BETWEEN PRODUCTION AND CONSUMP~ |
TION OF POWER. IT'S BEEN DELUSIONAL THINKING ON OUR PART
TO THINK THAT THE CONSUMPTION OF ENERGY CAUSES THE
DEPLETION OF THE PRODUCTION UF ENERGY. 5 |
0.00M . PR 1

ONE SF:ARK GAP,. X3,1S ON ;[EXHIBITING 10V AT NODE #10). THE ,
OTHER THREE SPARK GAPS ARE OFF (EXHIBITING 10nV AT NODE #10).

16.00M

S TETEYE

iy

=
'
!
.
'
.
.
'
!
.
.
.
.
'
!
.
.
.
.
'
!
.
.
.
.
'
!
.
.
.
.
.
1
.
!

T e

e
——— -

[210.360,1. 621m

-4.00M

0.00 42.07 84.14 126.22 168.29 210.36
Left Right Delta Slope
[ IV(X1.10) (V) 10.000n 10.000n -2.222E-19 4.414E-21
[ IV(X2.10) (V) 10.000n 10.000n -2.222E-19 4.413E-21
[ IV(X3.10) (V) 10.000n 10.000 10.000 198.594m
[ IV(X4.10) (V) 10.000n 10.000n 0.188f 0.004f
BIVIL1) HL1)+V(L2) 1{L2) 10.353M 1.621m -10.353M -205.613K
T (Secs) 160.006 210.360 50.354 1.000

FIG. 64



FIG. 65

C3 - « 1 femto » -
X1 0 « Farad » " _
Pin2 = = X2 | Find
C1
Minus Flus
» ® I ®
L1L2 lpic=1 999999999
| S | S ——
;::::; }:3 ;::::;
001 = £ L2 L3
® 1] »
Y
, L2
’ ' 000
10k Henrys CE
Minus Flus
1
¥ p1|  C5 1p Farad D2
Minus I Flus
1
1p Farad L1
o f?.ﬁ.ﬁ.f‘l
* in Henry
= _ L2 has one micro Ohm
* e | B Fint of resistance. L1 has
_ - ¥4 one nano Ohm and one
10 H L3 : _ Farad of parallel capaci-
enrys T Fin2 tance. L3 has ten Ohms.
Z All capacitors have 3
Ohms of equivalent

&
300 Farads

series resistance,
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+ ‘ \
s — + C5 ¥ 5
~ c6 - C6
. A FLOATING PLATE NOT
4 c6 CONNECTED TO ANYTHING
- C5
- - C5
| + - C6
+ |
C6

TWO POSSIBLE REPLACEMENTS
FOR HAVING TWO SEPARATE
CAPACITORS, C5 AND C6.

FIG. 66



FIG. 67

R1

$ AN

5 100m

Fini -
C3 L « 1 femto »

X1 « Farad »

Fin2
C1

MWinus I Flus

Flus

C4 Fin1

X2 Fin2

Winus

L1L2 lpic=1 |99

99999599

L2
——(-120.335N120 385MEG

10k Henrys

Minus

cé
Flus

Minus I Flus

¥ D1 C5 1p Farad

I
D2

|
1p Farad

L1

.{14.1016?:’]49996

=

2 Pin1

L7

— X4

Pin2

&
300 Farads

* in Henry

L2 has one micro Ohm
of resistance. L1 has
one nano Ohm and one
Farad of parallel capaci-

tance. L3 has ten Ohms.

All capacitors have 3
Ohms of equivalent
series resistance.
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6.00E20

4.00E20

2.00E20

0.00E00

-2.00E20

-4.00E20
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ammann_macro_v14_LOAD_outputs.CIR
e A

: : : A
I S S SR S

: : : _, i

: : : al [

: : L ¥

“:::;:'___‘__“\ ;:,

: : : "\, i

: : ! * i
T e taik e LT EE L PP PP PP PP PP PEPEPEEE LR oo

: : : N, !

; l : v ]

: . : : WS
0.00u 1.60u 3.20u 4.80u 6.40u 8.00u
VIL3) (V) I(L3) (A)

V(R1)'I{R1) V(C1)'I{C1)
V(C2Z)'I{C2) V(C3)'I{C3)
V(C4)*I{C4) WV(C5)'I{C5)
V(CB)'I{C8) V{L1)*I{L1)
V(LZ) I{LZ) V(L3) (L3}
V(L3NI(L3)

T (Secs)

FIG. 68



6.00E20,

4.00E20

2.00E20

0.00E00

-2.00E20

-4.00E20

ammann_macro_v14_LOAD_outputs.CIR

69/96

Hzaamn,a.ugEnzl - | '~;
! : : : b
0.00u 1.60u 4.80u 6.40u 8.00u
Left Right Delta Slope
[ IV(L3) (V) -3.010E01 -3.300E10 -3.300E10 -4.347TE15
[ IHL3) (&) 1.738E-01 1.100E10 1.100E10 1.449E15
[ IV(R1)'I{RT) 0.000E00 0.000E00 0.000E00 0.000E00
[ IV(C1)*l{C1) 8.217TE01 5.022E14 5.022E14 6.614E19
B]V(C2)*l{C2) 6.129E02 3.630E20 3.630E20 4.782E25
[ IV(C3)'l{C3) 1.958E-02 1.256E11 1.256E11 1.654E16
[ V(C4)l{C4) 2.414E-02 1.256E11 1.256E11 1.654E16
[ IV(C5)*I{C5) 2.475E01 -4.372E14 -4.372E14 5.758E19
[ V(CEB)I{C8) 3.769E01 6.883E14 6.883E14 9.066E19
[ V(L1 I{L1) 1.356E-08 -3.349E10 -3.349E10 4.411E15
[ V(L2)1(L2) 5.174E02 -2.188E18 -2.188E18 -2.882E23
[ IV(L3)*I{L3) -7.7T69E00 -3.630E20 -3.630E20 -4.7T82E25
[ IV(L3)MI(L3) -1.173E02 -3.000E00 1.143E02 1.505E07
T (Secs) 23.810n 7.616u 7.592u 1.000

FIG. 69
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A
B

MICRO-CAP'S SCHEMATIC
SYMBOL FOR A SPARK GAP
SUGGESTS A CAPACITANT
RELATIONSHIP BETWEEN
ITS ELECTRODES

-
\_/

O 30

COMMON ALTERNATIVE SCHEMATIC SYMBOLS FOR
A SPARK GAP RESEMBLING TWO DIODES WHOSE
CATHODES APPEAR TO BE FACING EACH OTHER

FIG. 70
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7 50K ammarm_macm_vﬂ_DUTF'U'I:'S.CIR
BO0K| USSR SN S
T — R S — s
0.00K R ———
1 o
'E'WKﬂ.ﬂﬂn 101 .:amn 21]2.:Etln Sﬂdfzﬂn 41]5.:Eﬂn 507.00n

V(R1] (V) I(R1) (A) V(R2) (V)

(R2) (A) V(R3) (V) I(R3) (A)

V(R4) (V) I(R4) (A) V(RE) (V)

I(R5) (A) V(RE) (V) I(R6) (A)

V(L1) (V) {L1) (A) V(L2) (V)

I(L2) (A) V(L3) (V) I(L3) (A)

V(C1) (V) (C1) (A) V(C2) (V)

(C2) (A) V(C3) (V) (C3) (A)

v(C4) (V) (C4) (A) V(C5) (V)

{C5) (A) V(D1} (V) (D1) (A)

V(D2) (V) (D2) (A)

T (Secs)

FIG. 74
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ammann_macroe_v21 OUTPUTS.CIR

Eggﬁ e e e St SRR <1 11 1 111 LI (=T 1|
00K oon 101.40n 202.80n 304.20n 405.60n 507.00n
Left Right Delta Slope
CIVIR1) (V) -390.831 -390.831 0.000 INF
CI(R1) (A) -3.908K -3.908K 0.000 INF
CIV(R2) (V) -390.831 -390.831 0.000 INF
CIR2) (A} -3.908K -3.908K 0.000 INF
CIV(R3) (V) -390.831 -390.831 0.000 INF
CII(R3) (A} -3.908K -3.908K 0.000 INF
CIV(R4) (V) 80.895 80.895 0.000 INF
CII(R4) (A) 808.945 808.945 0.000 INF
CIV(RS5) (V) 390.346 390.346 0.000 INF
CII(R5) (A) 3.903K 3.903K 0.000 INF
CIVIRS) (V) -1.048 -1.048 0.000 INF
CII(R8) (A) -10.476 -10.476 0.000 INF
CIVILT) (V) -1.564K -1.564K 0.000 INF
[BII{L1) (A) 4.454K 4.454K 0.000 INF
CIViL2) (V) 1.172K 1.172K 0.000 INF
CIIL2) (A) -26.767 -26.767 0.000 INF
CIV(L3) (V) -80.895 -80.895 0.000 INF
CIIL3) (A) 835.910 835.910 0.000 INF
CIV(C1) (V) -1.172K -1.172K 0.000 INF
CIC1) (A) -23.184m -23.184m 0.000 INF
CIv(c2) (V) 80.895 80.895 0.000 INF
CIC2) (A) 26.965 26.965 0.000 INF
CIv(€3) (V) -1.174K -1.174K 0.000 INF
CII(e3) (A) -21.888 -21.888 0.000 INF
Cv(c4) (V) -1.563K -1.563K 0.000 INF
CIi(c4) (A) -29.176 -29.176 0.000 INF
CIViC5) (V) -1.564K -1.564K 0.000 INF
CII(C5) (A) 521.296 521.296 0.000 INF
CIV(D1) (V) -390.346 -390.346 0.000 INF
CI(D1) (A) -390.356p -390.356p 0.000 INF
CIV(D2) (V) 1.048 1.048 0.000 INF
[CI(D2) (A) 3.900K 3.900K 0.000 INF
T (Secs) 507.000n 507.000n 0.000 1.000

FIG. 75
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5.00M ammanr:'u_macm_vﬂ_SUBTDT{&LS.CIR

2.50M

0.00M

-2.50M

5.00M

“7-50Mg5 60n 101.40n 202.80n 304.20n 405.60n 507.00n
V(R1)'I{R1) V(R2)'I(R2) V(R3)*I(R3)
V(R4)'I(R4) V(R5)"I(R5) V(R6)"I(R6)
V(C1)*I(C1) V(C2)'I(C2) V(C3)'I(C3)
V(C4)*I(C4) V(C5)*I(C5) V(D1)*I(D1)
V(D2)*I(D2) V(L) I(L1) V(L2)*I(L2)
V(L3)*I(L3) V(L3)NI(L3)

T (Secs)

FIG. 76



5.00M,

2.50M¢

0.00M

250M
5.00M;

-7.50M

ammann_macro_v21_SUBTOTALS.CIR

11.112n,-20.691u i = _._i::::::'.':-
" ! LT
............................................................. 4*-‘\
R S A S
: : : [507.000n -6.965M
0.00n 101.40n 202.80n 304.20n 405.60n 507.00n
Left Right Delta Slope
CIVIR1)'I{R1) 7.344m 1527M 1.527TM 3.019T
[IV(R2)'I(R2) 7.344m 1527TM 1527TM 3.019T
[IV(R3)'I(R3) 7.344m 1527M 1527TM 3.019T
[IV(R4)*I(R4) 66.514n 65.439K 65.439K 129.355G
[IV(R5)*I(R5) 182.358u 1.524M 1.524M 3.012T
[vireyre) MOTOR 182.358u 10.975 10.975 21.695M
CVIE1HC)  cAPACIT- 77.883u 27.183 27.183 53.734M
(V(C2)C2) 2.181K 43126
[JV(C3)'I(C3) 1.441m 25.687K 25.68TK 50.776G
[JV(C4)*I{C4) 1.441m 45.597K 45 597K 90.132G
[ JV(C5)I{C5) 1.765m 815.248K 815.248K 1612T
[CIV(D1)*I(D1) 0.026f 152.374n 152.374n 301.201m
[V(D2)*{D2) 0.025f 4.086K 4.086K 8.077G
[BIVIL1)I{L1) -20.691u 5.965M 6.965M 13.769T
[IV(L2)I(L2) -27.100m -31.384K -31.384K £2.038G
[(IVIL3)'I{L3) MOTOR LOAD 67.621K -133.667G
CV(L3)L3) 214.354n 423.717Tm
T(Secs) |IMPEDANCE 1112n 507.000n 505.888n 1.000

MOTOR LOAD IS APPROX. TEN TO ONE = VOLTS TO AMPS

THE GENERATION OF REACTIVE POWER BY THE MOTOR LOAD, L3, IS EXCES-
SIVELY (ASYMMETRICALLY) EXCEEDING ITS CONSUMPTION OF REAL POWER

AT CAPACITOR, C2, BY AFACTOR OF: -67.621K TO +2.181K = =31 TO +1.

FIG. 77



1000.00m

ammann_macro_v21_TOTAL.CIR

78/96

600.00m}--- oA L
[_1235 f85n 510. 213m|
: S - :
' ' ] ' ' '
400.00m oo T T i L
I I ooy E I
P i
. R s
zuu.uum-----------------------------~f ----------------------------------------- { ----------------- -----------------------------------------------------------
: 11' |
\ :
i :

: i :
0] o S,

-200.00m

_________

V(R1i*I(R1)+V(R2)“EFI(R2§)+V(R3)*IE(R3)+V(R4)*I(ER4)+
800.00m| - V(R5)*(R5)+V(RB)*I(RE)+V/(C1)*|(C1)+V(C2)*C2)+
V(C3)*I(C3)+V(C4)*I(C4)+V(C5)*|(C5)+V(L1)*I(L1)+

imems .- [EO7 000N, 15 901

0.00n 101.40n

202.80n 304.20n

405.60n

507.00n
Left Right Delta Slope
BIVIR1}'IIR1)+V(R2) IR 510.213m -15.901m 526.115m -1.948M
T (Secs) 236.885n 507.000n 270.115n 1.000

FIG. 78
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9995990999
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80.00m
40.00m -----------------------------------------------------------------------------------------
ﬂﬂﬂm .'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.".:.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'T:':_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_".."_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_"..'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'.'_'
e 0] 1] nnnE e GOEE LR E PR TP TP PP EEPEEEEE
B DM -
|
©120.00m 0.00n 101 .Iamn 2ﬂ2:3ﬂn Sﬂd.lzﬂn 4ﬂ5:6ﬂn 507.00n
V(R1}I(R1) V(RZ)'I(R2) V(R3)'I(R3)
V(R4)'I(R4) V(R5)'I{R5) V(RE)'I(RE)
V(C1)I{C1) V(C2)'I{C2) V(C3)'I{C3)
V(C4)'I(C4) V(C5)'I{C5) V(D1)*I{D1)
V(D2)*'(D2) V(L)' I(L1) V(L2)'l{L2)
V(L3)'I(L3) V(L3MI(L3)
T (Secs)

FIG. 81
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ammann_macro_v21_SUBTOTALS_OFF.CIR
""£19.?D?n,-95.??4m| """ R e A |507 .000n -96.77 4rm
0.00n 101.40n 202.80n 304.20n 405.60n 507.00n
Left Right Delta Slope
[ IVIR1)'I{R1) 1.780m 1.778m -2.644u 5.427
[ IV(R2)'I(R2) 1.780m 1.778m -2.644u 5.427
[ IV(R3)'I(R3) 1.780m 1.778m -2.644u 5.427
[ IV(R4)'I(R4) 594 59:2f 658.896p 658.301p 1.351m
[ IV(R5)'I{R5) 4.006m 4.000m -5.950u -12.210
[ IV(R6)'I(R6) 4.006m 4.000m -5.950u -12.210
[ V(C1)y'l{C1) -393.183p 31.874f 393.215p 806.937u
[ V(C2)'I{C2) 19.820f 21.963p 21.943p 45.031u
[ IV(C3)'l{C3) 5.011u 7.999p 5.011u 10.284
[ ]V(C4)'1(C4) 5.011u 7.997p 5.011u 10.284
[ ]V(C5)*I(C5) 0.000 0.000 0.000 0.000
[ IV(D1)'I{D1) 0.634f 0.633f 0.001f -2.089p
[ IV(D2)*I(D2) 0.508f 0.508f 0.001f -1.494p
[ IV{L1YI{L1) 0.000 0.000 0.000 0.000
[ IV(L2)*I{L2) -13.343m -13.333m 9.810u 20.131
[ IV(L3)'I{L3) £14.412f £80.862p £80.247p -1.396m
[BIV(L3)I(L3) 96.774m 96.774m 357.253n 733.139m
T (Secs) 19.707n 507.000n 487.293n 1.000

FIG. 82
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FIG. 85

2.00E143
1.50E143 oo e A f i P F
1.00E143 oo S — T ——
T S —
0.00E00 v

50081425 vou 0.56u 112u 168u 2.24u 2.80u

VIL3) (V) IL3) (A) VR1)IR1)

V(R2)'I(R2) V(R3)'I(R3) V(RA)I(R4)

V(R5)'I(R5) V(R6)'I(R6) V(C1)I(CH)

V(C2)1(C2) V(C3)'I(C3) V(C4)I(C4)

V(C5)'I(C5) V(C6)'I(C8) V(CT)I(CT)

V(C8)'I(C8) V(D1)1(D1) V(D2)'1(D2)

V(D3)'I(D3) V(D4)'1(D4) VL1)'I(L1)

V(L2)'I(L2) V(L3)'I(L3) V(L3)I(L3)
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ammann_macro_v20_LOAD_diodic_input.CIR

.............................. JzanzmawEma
"""""""""""""""""" R St L1 < TH = =T | R ST
- - e - |

0.00u 0.56u 1.12u 1.68u 2.24u 2.80u
Left Right Delta Slope
[ IV(L3) (V) 1.011E03 7.250E11 7.250E11 6.045E17
[ IL3) (A) -1.045E04 -T919E12 -T919E12 £5.604E18
[ IV(R1)'I{R1) 0.000E00 0.000E00 0.000E00 0.000E00
[ IV(R2)'I(R2) 1.067TE05 8.522E26 8.522E26 7.106E32
[ IV(R3)'I(R3) 4.725E08 7.229E26 7.229E26 6.028E32
[ IV(R4)'I(R4) 1.022E07 5.256E24 5.256E24 4.383E30
[ IV(R5)'I(R5) 1.067TE05 8.522E26 8.522E26 7.106E32
[ IV(R6)'I(R6) 5.000E08 2.491E26 2.491E26 2.077TE32
[ IV(C1)*l{C1) 1.493E07 1.849E23 1.849E23 1.542E29
[ IV(C2)'l{C2) 3.407TE05 1.752E23 1.752E23 1.461E29
[ IV(C3)'I{C3) 2.827TE-04 3.830E18 3.830E18 3.193E24
[ V(C4)'1(C4) 6.801E-01 2.532E18 2.532E18 2111E24
[ JV(C5)*I{C5) 2.628E06 -1.257E23 -1.257E23 -1.048E29
[ IV(CB)'I{C6) 6.519E05 2.215E24 2.215E24 1.847E30
[ IV(CT)'I(CT) 6.482E07 6.069E25 6.069E25 5.060E31
[ ]vV(C8)'I{C8) 6.148E-13 0.000E00 6.148E-13 5127E07
BIV(D1)I{D1) 9.898E-08 1.312E143 1.312E143 1.094E149
[ IV(D2)*1(D2) 5.011E-05 2.500E13 2.500E13 2.085E19
[ IV(D3)"I(D3) 1.230E00 5.267TE11 5.267E11 4.392E17
[ IV(D4)"1(D4) 1.230E00 5.267TE11 5.267E11 4.392E17
[ IV(L1)*1{L1) -1.053E09 -71.33TE26 -71.337TE26 6.118E32
[ IV(L2)*1{L2) -2.237TE06 1.82TE23 1.827E23 1.523E29
[ IV(L3)I{L3) -1.056E07 S5.741E24 5.741E24 -4.7T88E30
[ IV(L3)I(L3) 967TEN2 9.155E-02 5.228E-03 4.359E03
T (Secs) 1.603u 2.802u 1.199u 1.000

FIG. 86
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L3 5 Bint series resistance.
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ammann_macro_v20_LOAD_diodic_input_=_0OFF.CIR
0.00 0.20 0.60 0.80
VIL3) (V) I(L3) (A) V(R1)'l(R1)
V(R2)'I(R2) V(R3)'I(R3) V(R4)'l(R4)
V(R5)'I(R5) V(RE)'I(R6) V(C1)'l{C1)
V(C2)'I{C2) V(C3)'I{C3) V(C4)'l(C4)
V(C5)'I{C5) V(C8)'I{C8) V(CTYNCT)
V(C8)'l{C8) V(D1)'I{D1) V(D2)'(D2)
V(D3)'I(D3) V(D4)'I(D4) V(L) I{L1)
V(LZ) I{L2) V(L3)"I{L3) V(L3NI{L3)

FIG. 90
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16.00 ammann_macro_v20_LOAD_diodic_input_=_0OFF.CIR
"~ 000010000} o R R R U —
) S S e R [1.000,95.778m]
| - - - - |
4'ﬂﬂﬂ.ﬂﬂ 0.20 0.40 0.60 0.80 1.00

Left Right Delta Slope

[ IVIL3) (V) 0.001f 458.126f 458.127f 458.127f

[ IL3) (A) 6.870E-20 4.734p 4.734p 4.734p

[ IV(R1)'I{R1) 0.000 0.000 0.000 0.000

[ IV(R2)'I(R2) 4.610E-24 0.006f 0.006f 0.006f

[ IV(R3)'I(R3) 4.818E-24 0.006f 0.006f 0.006f

[ IV(R4)'I(R4) 4.720E-36 2.099E-24 2.099E-24 2.099E-24

[ IV(R5)'I(R5) 4.610E-24 0.006f 0.006f 0.006f

[ IV(R6)'I(R6) 4.818E-24 0.006f 0.006f 0.006f

[ IV(C1)*l{C1) 0.000 -2.192E-29 -2.192E-29 -2.192E-29

[ IV(C2)'l{C2) 0.000 6.988E-26 6.988E-26 6.988E-26

[ IV(C3)'I{C3) 0.000 5.484E-39 5.484E-39 5.484E-39

[ V(C4)'1(C4) 0.000 5.478E-39 5.478E-39 5.478E-39

[ JV(C5)*I{C5) 0.000 5.484E-33 5.484E-33 5.484E-33

[ IV(CB)'I{C6) 0.000 5.470E-33 5.470E-33 5.470E-33

[ IV(CT)'I(CT) 0.000 0.000 0.000 0.000

[ ]vV(C8)'I{C8) -15.130n 0.788f 15.130n 15.130n

[ IV(D1)*I{D1) 6.393E-37 7.919E-31 7.919E-31 7.919E-31

[ IV(D2)*1(D2) 6.681E-37 7.919E-31 7.919E-31 7.919E-31

[ IV(D3)"I(D3) 7.716n 0.210f -7.716n -7.716n

[ IV(D4)"1(D4) 145.078f 0.184f -144 .894f -144 .894f

[ IV(L1)*1{L1) 0.000 0.000 0.000 0.000

[ IV(L2)*1{L2) 2.285E-22 0.023f 0.023f 0.023f

[ IV(L3)I{L3) 4.720E-38 -2.169E-24 -2.169E-24 -2.169E-24
BIV(L3)I(L3) 10.000 96.778m -10.097 -10.097

T (Secs) 0.000 1.000 1.000 1.000

FIG. 91



ML < 1kQ MOTOR LOAD, up to 1kQ Max.
1 MOTOR / TRANSF ORMER

1
: AAAA
' W
<<< 10 mega % C.COEF. or more to RUN
20201212-2000 << 10pH & 171 & 10 AWG

+ +
-34488V 34488V

(100 kilo % C.COEF. or less to GROW:=>> |

ML < 1kQ
1, .

"

RHIAR LOAD, up o TR0 s, . https://is.gd/12voltcap

RESISTANCE (NOT IMPEDANCE) OF THE MOTOR / TRANSFORMER COILS
ACTS LIKE ADDING KEROSENE TO A FIRE.... .1y IT ACCELERATES GROWTH! THIS
IS WHY I USE A HEAVY GAUGE WIRE, 10 AWG, TO WIND THIS VIRTUAL MOTOR / TRANS-
FORMER TO PREVENT RAPID (EXPLOSIVE) GROWTH OF POWER

t=316ms

LEFT_MOTOR_COIL RIGHT_MOTOR_COIL e fime step = 100 ns

MOTOR LOAD, up to 1k(} Max. FIG . 92

1.,
Y 1 WW-
(<<< 100 mega % C CORF or more to RUN )
20201212-2000 <<<10pH & 111 & 10AWG

ML < 1kQ
1 MOTOR / TRANSFORMER

35005V

100 kilo % G_.COEF. or less to GROW>>>
ML < 1k}
1

;
WW Z : o
MOTOR LOAD, up fo TkQ Max. https:/fis.gd/12voltcap

SEE NATHAN STUBBLEFIELD'S PATENT, ELECTRICAL BATTERY #600,457 -- MARCH 8th 1898, FOR HINTS ON WINDING
THIS MOTOR / TRANSFORMER. ALSO, SEE TESLA'S SFECIAL GEN- ERATOR (ACCORDING TO WILLIAM LYNE IN HIS BOOK,
PENTAGON ALIENS, AND THOMAS COMMERFORD MARTIN'S BOOK, +42y WRITINGS AND INVENTIONS OF NIKOLA TESLA, CHAPTER
63 -- THE LAST CHAPTER), AND EDWARD LEEDSKALNIN'S PERPETUAL MOTION HOLDER (PMH) ON YOUTUBE, ETC, FOR HINTS ON CORE
MATERIAL -- EXCESSIVE CORE MATERIAL IS MAGNETICALLY COUPLED TO THE CORE OF THIS MOTOR / TRANSFORMER FROM OUT-
SIDE THE COIL'S CENTER. AND EACH COPPER COIL IS BIFILAR WOUND WITH A BARE, IRON COIL SEPARATING EACH COPPER STRAND.
S3TA [ | t=409ms
RIGHT_MOTOR=€QIL | time step = 100 ns

226.91 A
LEFT_MOTOR_COIL




This is as close as | can get to simulating Tesla's Special Generator for an EV!

1H

| | L] u | || | | u
httpfﬂs_gﬂfmremass\ ———————
circuit-20171101-2307 circuitjs txt

ov ov i=109s
resistor, 720 m{ resistor, 720 m{ time step = 200 ps

200234 A \~




Gradually add more Henrys to the top Transformer to slow its growth towards
infinity until it has 100E Henrys equivalent to 100 Exa Henrys = 1001e18.

http:/fis gd/addinduct
° / ‘

720m \ http://is.gd/spec_gen
CLK

~

L]

g

cicuit-20171101-2332 circuitjs ixt hitp-//metricconversion.us/prefixes_htm

~

ov ov i=0s
resistor, 720 m{ resistor, 720 m{

fime step = 200 ps
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SUBSTANTIAL CUT

ELECTRICITY “TAKEN FROM
AIR” DRIVES AUTOMOBILE

IN PIERGE-ARROW
PRICE ANNOUNCED

substantial reductlon in  the
p'rh:rl af Ite todrlng oar madlels of- |
fevtive after September 1, and a re-
duetion on the prices of lts truck |
models, effective Immedintely, hnt,
been announced by George W, 2lix- |
ter, president of the PFlerve- ..l.rl‘f.m-L
Maotor Car company, |

The new price of the standand
FEVER -passonEer touring car s 56600 |
ut the factory, the Intlosed car prlu!r|
being graded proportionatedy,

The new prices of jta truck rnmlr]r_
Are: $4.850 for the [fve-ton size:
§4.350 for the 3% -ton and $3.200 for |
the 2-lon.

S

FUTEVEEFREYEESVEFITR

DEXVER. Colo.. Aug. 28.—Demon-
strations are being made on the
dlreéts of Denver of a Bew electrle
gengrator that is clalmed by the in-
ventors 1o take electriclty from the
alr.

The Inventors are J. E. Ammann
of Denver, nnd his brother, C. E Am-
mann of BEpokans, Waah,

To demonsirnies, the brolhera bar-
rowed an old electric auin, took oot
the batteries, and after roping their
new “aitmospheric generator” fast.
they got in and rode off at high
apead

C. E. AMMANN AND HIE "ATMOSPHERIC GENERATOR"
TACHED TO AN ELECTRIC AUTOMOBILE

AT-

I “Theid |8 nothing Inalde the drum
that moves; the contenis consists
only of iron, wire and minerals,” says
C, E. Ammann.

“It ean be used to drive any elec-
trieal apparalus and can be mads In
any slze.”

The brothers are closfly guarding
ll:fll‘ secret, and even take their

“braln-child® when It js not in use,
6 thelr room in the Argonaut hotel

80 far the brothers have not of-
fered to pell thelr proposition.

Electrical meon in Denver are walf-
ing “to be shown™ bat they Fmant
ihe thing works

TN INfCHRANNrT

ihuume bodlen was ihe highlight of

“New C

Buys a brand new s
$1,625.00 £. o. b. Pl
automobile. The fa
them to some other
cost of re-shipment
make special terms
cars. There are onl

NEW 1

The same m
rather than re sh
excellent satinfoct
saving on & high-
pay you ts buy an

$2,500.00 truck cha:
ﬂ-mnﬂtmclsch-

All of the =l
This offer w
few duays only. W
given to ship them

“TWO REAI
Dodge Coupe

car for privats use
1921 Naah 7
extra sguipment, |
covars and will m
Bpecial terma on »
Then we ha
Dodge Comr
Ford Coupse
Hudssn Sup
1521 Essex °
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